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Algebra 2- Chapter 7
LT Quiz #4

Solve each equation (3 points each):

i. 252 =92
27=2%  5x-i=5
§x:b
X=b/s
2. 23x=4x+1
23>‘ :__29()(-1-1)
SX=AX T M~
X =N
—2% =3
%:,085
XIB% 2=109 3 y=1093
1092
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5. logx—1log3 =8
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Algebra2 Ch. 7 /12 Name:

Learning Target Quiz #5 Per.

LT #5 Natural Logarithms

Evaluate or Solve for the variable: (2 pts each)

l. Se*=25_ L/\ .. X=1,6
s she”ans
X/(ZAMS‘ X=ins

2—2}«3x+2)53 _5_)2(:._
> 3

3
BX+a=0 s
X=£=2 _
3. In(3) +In(x+3) =2 5 3 X=-0.5 Y

/”{3 Xﬁ) =4 3)(-1—‘3:2 &=
3x=2-9

4. Ms. Watson invests $100 into an account that earns 5% interest i, A / L/ Wﬂ '/S
compounded continuously. How many years will it take her to 4. = 7

double her money? All work using logs must be shown for credit.

A=fpre
__?’_?_QQ = /oG (OSXE)
/00 )00
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o= €
2 W.oﬁ

an = 0.08T

=6.03
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